Russell earns £49 932 a year. His wife,

A car showroom reduces the price of a

car from £18 750 to £14 999. By how Eisha, earns £13 569 a year. They have

much was the price of the car reduced? to pay £7492 income tax per year. How
much is left altogether?

There are 145 958 people at a theme Richard is having a garden party. He
will need to make 412 390 sandwiches

park. If 34 985 are children, how many

are adults? in total. He makes 23 900 tuna, 54 300
cheese, 74 200 ham and 32 930 eqg. He

decides to make the rest beef. How

many beef sandwiches Gha

will there be?
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Keiko has £5. She buys a chocolate bar
at 79p, a can of pop at 65p and a

magazine at £2.35. How much change
will she receive?

Maggie buys half a kilogram of grapes
and one pineapple. How much change
does she get from £5?

£2.50

per kilo
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Rashaan buys 2 pineapples and a box of
peaches. How much does he pay?

There are 4523 pupils in a school. 2425
are boys. How many are girls?




There are 175 people on a bus. 39 Work out the missing numbers
people get off and 12 get on. How many
are on the bus now? 4 67+35_ 4=7851




